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1. Ch3 Suppose 4=33". a=10 cm. and b =15 cm. (See figure.) ¢
15cm J,‘/ 10 em

a. (5 pts) Show that there are two solutions to this triangle. before solving

L]
the triangle. A 33 B

."L:s:g

3 _
Y i . hos 52339 8169585525 < w0=a <i1s=b
% ——— Q_sueh‘s.

b. (5 pts) Find both solutions. For one. B will be acute. For the other, B
will be obtuse. Round final answers to 3 decimal places.
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2. Ch3 Supposea=10, b= 15, c =20. Solve the triangle. Round final
answers to 3 decimal places. See figure.
= bret 2 b oS 4 <% The one thing I have memorized.
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3. Ch3 Letus= \:2.—3:) and v ={-1, S:r. Compute or sketch, as directed:

a. (5pts) HE” (Use dot product).

Wz :‘ J-: = \l P 1d \ﬁaqr-\\&'\l

b. (5 pts) The direction angle for u. Use degrees. Round final answer to 3 decimal places.

snchanm (-2 -56.30993247°

&
/_\ O= 340°-5t.2.°2 2\203.630° * &
o
> ~3

—

¢. (5pts) The angle between & and v. Use degrees. Round final answer to 3 decimal places.

Lek Obe = = v v o Theo
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I
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d. (5 pts) The resultant of &7 and v.

TyT = 4230 + LS i< LasS=0 |
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e. (5pts) proj, (7). = -— V= -;L £-,g>=

- 2= lq" __gs‘ _ N —
=T RSy = LS TS s @

t. (5 pts) Sketch the vectors . v, and u +v on the same set of coordinate axes.

— v = -\ §_>
Gz L2030 VLT
™
—~
A\
;-::\'"
> ¥
u

g. (5pts) Sketch the vectors u. ¥.proj; (). and # —proj; (# ) on the same set of coordinate axes. Don’t
over-write your sketch from part f. Start a new sketch.

Y
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4, Ch3 (15 pts) A weight of 2000 Ibs 1s suspended from two hooks in the

ceiling. Find the tension in each cable. (See figure.) Round final answers to 3
decimal places. 190210 °
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The more elegant way, using Law of Sines, courtesy of Sven Lunas

4. Ch3 (15 pts) A weight of 2000 1bs 1s suspended from two hooks in the
ceiling. Find the tension in each cable. (See figure.) Round final answers to 3

decimal places.
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Ch4 (10 pts) Use the fact thatz=2 + 3i is a zero of f(x)= x'—9x’ +19x” —9x—182 to obtain a linear
factorization of f(x). that is, ssht [ into linear factors by finding all its zeros.
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6. Ch4 Let z=3(cos(33°)+isin(33°)) and w="7(cos(11°)+isin(11°)). Compute the following.
{ | )
a. (Sptsfzw = p | [&05("‘4")* I 5o (qq“)
L

3 o - - g)
b. (:‘ps)(% = :;,;(US("-"-)"' (s 22 )

7. Ch4 Let z=32+32iy3.

a. (10 pts) Find all 5% roots of z. Leave your answers in trigonometric form. Use exact radians (i.c.. 7-

radians). ) \(Z’L\ﬁ)-l 4—(31)1
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k=0" \/‘ \/ZT(uJ (tS’)“"(F“—( ))
e EY) e -

ents T =°-%“‘ - T T 3 | (el ﬂ

o= E" (eos(* ‘;) +i1sc( ‘?sr—r))
g=3" 6= a4 =2 N\ (w;(m' )"“ sS(5F m
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b. (5 pts) Convert your answers 1n part a to standard form. Round results to 3 decimal places.

—1.537258453 — 1.707298477 I, 1.148698355 — 1.989603914 I

K=o AANF - O I+De
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L=0% =20994 .7
k=3 -5 —~120%¢C

=y .+ HLMG- 1490 ¢
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8. Ch4 Consider the following:
x=2+3cos(8)

y=3-5sin(8)
Easier to do part b, first!

a. (5 pts) Sketch the curve represented by the parametric equations. Indicate the orientation of the curve.
—

N (2 ) ﬁ

2.3)
(-\,1) ( C.'5

N/ o

273

b. (5 pts) Eliminate the parameter and write the resulting rectangular equation whose graph represents the

curve.
x= 243“56 —_— X-2 %?us@ —_— -25-_-2 = (‘.\959
‘J= 3—§S"—‘Q T4 \°—3= _gsc\é——7 l’:} = S e.

o\ Y, o) )
T\t e

= a=73,b=%, eWpse.
(‘),L\" ('7-(3\
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9. Ch 6 Convert the equations to polar form:

a. (Spts) x-3y+5=0
r_wse-grsule "’S—:O
rCuse—35:“63= -5 s

" wb-3smB | % 300 -ewsO

b. (5pts) x*+3*=25
l‘"—= ’}_g = _g- ‘S /\QS’ ?aoJ.

10. Ch 6 (5 pts) Sketch the graph of the polar equation r = 5(_'1+lcos (49]}
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L 0
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S
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[ 4 / 3}'
11.Ch é (10 pts) Find the polar equation of the ellipse with vertices | 2%]‘ 4, jT

)
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